The Mystery Daytime Feather - answers

Clue 1
i >, <or= A
12cm > 9cm
bem = bcm
21lcm > lcm
l4cm = 14cm
3cm < 5cm
lécm = l6cm
30em = 30em
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Answer: The mystery bird is medium.
Clue 2

Circle 1 of the fish.
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Circle 1 of the insects.
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Circle Z of the small animals. Y ( Circle § of the seeds )
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[ Answer: The mystery bird eats seeds.
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Clue 3

16 + 24 =|40 10 + 20 =30
 21+/8]=29 || 42+[10 =52
35 + 15 =[50 5|+ 55 =60

Clue &4

‘ Answer: The mystery bird lives in woodland.

Mystery solved! The feather belongs to a wood pigeon!




